Sissybar

HIGHWAY HAWK Kawasaki VN 1500/1600 Mean sreak

o Mo @HrRONIY
S ,//‘-,.»r,f/‘// WM ///./
PRI At o, S44047A

~

S24-3047 N LN 5241047 - \%@
Components
1 | Side brackets 2x
2 { Bolt M6 x 40 2
3 | Bot M6 x 25 2
4 | Nybon washer M6 ix
5 (Spacer @14.5x 7.5 ix
6 [ Washer M6 %
(1]
Lu}

Model for Kawasaki VN 150071600 Mean streak

© Motorrad Burchard GmbH advises installation by a professional mechanic. © Motorrad Burchard GmbH
We do not accept responsibility for improper installation. Lemgo - Germany




